

New integrable differential-difference systems

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1997 J. Phys. A: Math. Gen. 30 L669

(<http://iopscience.iop.org/0305-4470/30/20/002>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.110

The article was downloaded on 02/06/2010 at 06:02

Please note that [terms and conditions apply](#).

LETTER TO THE EDITOR

New integrable differential-difference systems

Xing-Biao Hu^{†‡||}, Peter A Clarkson^{‡¶} and Robin Bullough^{§+}

[†] State Key Laboratory of Scientific and Engineering Computing, Institute of Computational Mathematics and Scientific Engineering Computing, Academia Sinica, PO Box 2719, Beijing 100080, People’s Republic of China

[‡] Institute of Mathematics and Statistics, University of Kent at Canterbury, Canterbury, Kent CT2 7NF, UK

[§] Department of Mathematics, UMIST, PO Box 88, Manchester M60 1QD, UK

Received 26 June 1997

Abstract. We report a new, and relatively simple, procedure for finding new integrable differential-difference equations. The procedure starts from a rather general differential-difference equation taken in bilinear form and then searches for appropriate Bäcklund transformations for it. In this way three particular new integrable differential-difference systems are found and their corresponding Bäcklund transformations presented.

Hirota’s bilinear method has been of fundamental importance to the theory of solitons since its inception [1–5]; and it has retained its significance throughout all of the subsequent developments [5, 6]. It is also the most direct and yet elementary approach for constructing exact multi-soliton solutions (cf [1–5, 7–9]). More recently the method has been systematically used in the search for new integrable equations in both (1 + 1) and (2 + 1) dimensions by finding equations with 3-soliton, 4-soliton, and even N -soliton solutions (cf [10–13]); as a result of such systematic tests some new examples of integrable equations have actually been found. However, by comparison with the continuous case, similar procedures for detecting integrable systems among the discrete lattices are scarcely developed. The problem for these discrete cases is that conditions for an N -soliton solution now become much more difficult to check. In the continuous case the N -soliton conditions are just polynomial identities. For example, for the Korteweg–de Vries (KdV)-type equation

$$F(D_x, D_t) f \cdot f = 0 \tag{1}$$

in which F is a polynomial function of D_x, D_t , and satisfies the conditions

$$F(D_x, D_t) = F(-D_x, -D_t) \quad F(0, 0) = 0$$

the N -soliton condition is [8]

$$\sum_{\sigma=\pm 1} F \left(\sum_{i=1}^n \sigma_i p_i, \sum_{i=1}^n \sigma_i \Omega_i \right) \prod_{i>j}^n F(\sigma_i p_i - \sigma_j p_j, \sigma_i \Omega_i - \sigma_j \Omega_j) \sigma_i \sigma_j = 0 \quad n = 1, 2, \dots, N$$

^{||} E-mail address: x.b.hu@ukc.ac.uk

[¶] E-mail address: p.a.clarkson@ukc.ac.uk

⁺ E-mail address: robin.bullough@umist.ac.uk

in which $\sum_{\sigma=\pm 1}$ means the summation over all possible combinations of $\sigma_1 = \pm 1$, $\sigma_2 = \pm 1, \dots, \sigma_n = \pm 1$; D_x, D_t are Hirota's bilinear operators [7, 8] defined by

$$D_x^m D_t^n a \cdot b \equiv \left(\frac{\partial}{\partial x} - \frac{\partial}{\partial x'} \right)^m \left(\frac{\partial}{\partial t} - \frac{\partial}{\partial t'} \right)^n a(x, t) b(x', t')|_{x'=x, t'=t}.$$

In this letter, we consider the following bilinear differential-difference equation:

$$F(D_x, D_t, \sinh(\alpha_1 D_n), \dots, \sinh(\alpha_l D_n)) f(n; x, t) \cdot f(n; x, t) = 0. \quad (2)$$

Here, F is an even polynomial in $D_x, D_t, \sinh(\alpha_1 D_n), \dots, \sinh(\alpha_l D_n)$, and l is a given positive integer; the $\alpha_i, i = 1, 2, \dots, l$, are different constants, and $F(0, 0, \dots, 0) = 0$;

$$\exp(\delta D_n) a_n \cdot b_n \equiv \exp \left[\delta \left(\frac{\partial}{\partial n} - \frac{\partial}{\partial n'} \right) \right] a(n) b(n')|_{n'=n} = a(n + \delta) b(n - \delta).$$

It is then straightforward to verify that equation (2) always has the 2-soliton solutions

$$f(n) = 1 + \exp(\eta_1) + \exp(\eta_2) + A_{12} \exp(\eta_1 + \eta_2)$$

where

$$\eta_i = p_i n + q_i x + r_i t + \eta_i^0 \quad F(q_i, r_i, \sinh(\alpha_1 p_i), \dots, \sinh(\alpha_l p_i)) = 0 \quad i = 1, 2$$

$$A_{12} = - \frac{F(q_1 - q_2, r_1 - r_2, \sinh(\alpha_1(p_1 - p_2)), \dots, \sinh(\alpha_l(p_1 - p_2)))}{F(q_1 + q_2, r_1 + r_2, \sinh(\alpha_1(p_1 + p_2)), \dots, \sinh(\alpha_l(p_1 + p_2)))}$$

where p_i, q_i, r_i and η_i^0 , for $i = 1, 2$, are constants.

However, when we want to go on to consider which specific forms of F admit 3-soliton solutions, the corresponding calculations become more involved. Accordingly, in the following, instead of searching for integrable systems by testing for N -soliton solutions, we propose a rather different scheme. Our procedure is to search for suitable F, G, A and B such that

$$\begin{aligned} & [F(D_x, D_t, \sinh(\alpha_1 D_n), \dots, \sinh(\alpha_l D_n)) f(n) \cdot f(n)] \\ & \quad \times [G(D_x, D_t, \sinh(\beta_1 D_n), \dots, \sinh(\beta_{s_1} D_n)) g(n) \cdot g(n)] \\ & = [F(D_x, D_t, \sinh(\alpha_1 D_n), \dots, \sinh(\alpha_l D_n)) g(n) \cdot g(n)] \\ & \quad \times [G(D_x, D_t, \sinh(\beta_1 D_n), \dots, \sinh(\beta_{s_1} D_n)) f(n) \cdot f(n)] \end{aligned}$$

can be derived from

$$\begin{aligned} & A(D_x, D_t, \exp(\gamma_1 D_n), \dots, \exp(\gamma_{s_2} D_n)) f(n) \cdot g(n) = 0 \\ & B(D_x, D_t, \exp(\omega_1 D_n), \dots, \exp(\omega_{s_3} D_n)) f(n) \cdot g(n) = 0 \end{aligned} \quad (3)$$

where $s_i, i = 1, 2, 3$, are given positive integers and $\beta_i, i = 1, \dots, s_1, \gamma_j, j = 1, \dots, s_2$, and $\omega_k, k = 1, \dots, s_3$, are constants. In this circumstance, (3) may be viewed as a Bäcklund transformation for (2) if $G(D_x, D_t, \sinh(\beta_1 D_n), \dots, \sinh(\beta_{s_1} D_n)) f(n) \cdot f(n) \neq 0$, a viewpoint which, by the introduction of F and G , seems somewhat more general than that of [7] for discovering Bäcklund transformations. Then, otherwise, *and in so far as Bäcklund transformations are characteristic of integrable systems*, equation (2) is an integrable system. Evidently it is relatively simple to find new integrable differential-difference systems in Hirota's bilinear form (2) by following this particular route.

In this letter we report *three* new integrable differential-difference equations found in this way.

Example 1. In this example we consider

$$[D_t \sinh(\frac{1}{2}mD_n) - 2 \sinh(\frac{1}{2}kD_n) \sinh(\frac{1}{2}(m - k)D_n) + 2\alpha \sinh(\frac{1}{2}kD_n) \sinh(\frac{1}{2}(m + k)D_n)] \times f(n) \cdot f(n) = 0 \tag{4}$$

where m and k are two integers and α is an arbitrary constant. In particular, when $\alpha = 0$, (4) becomes an extended Lotka–Volterra equation [14]. When $m = 1, k = 2$, (4) can be easily transformed into the generalized Lotka–Volterra equation found by Tsujimoto and Hirota [15]. We can show (4) is integrable in the sense of Bäcklund transformations. In fact we have the following.

Proposition 1. A Bäcklund transformation for (4) is

$$\begin{aligned} & \exp(\frac{1}{2}(m - k)D_n) f(n) \cdot g(n) \\ &= \left[\lambda \exp(\frac{1}{2}(m + k)D_n) + \mu \exp(\frac{1}{2}(k - m)D_n) + \frac{\alpha\mu}{\lambda} \exp(-\frac{1}{2}(m + k)D_n) \right] \\ & \quad \times f(n) \cdot g(n) \\ & \left[D_t - \lambda \exp(kD_n) - \frac{\alpha}{\lambda} \exp(-kD_n) - \gamma \right] f(n) \cdot g(n) = 0 \end{aligned} \tag{5}$$

where λ, μ and γ are arbitrary constants.

Remark 1. When $\alpha = 0$, the Bäcklund transformation (5) reduces to that in [16] for an extended Lotka–Volterra equation [14, 16].

Here, in the following, we derive some solutions of the bilinear equation (4) using the Bäcklund transformation (5). For simplicity, we set $\alpha = -1$. In this case, by applying the Bäcklund transformation (5) to the trivial solution $f(n) = 1$, we can easily obtain the following solutions:

(i) the 1-soliton solution

$$g(n) = 1 + \exp\{pn + 2 \sinh(kp)t + \eta^0\}$$

where k, p and η^0 are constants, for the parameters $\lambda = e^{kp}, \mu = -\lambda, \gamma = (1 - \lambda^2)/\lambda$;

(ii) the rational solution

$$g(n) = n + 2kt$$

for the parameters $\lambda = 1, \mu = -1, \gamma = 0$.

Further by applying the Bäcklund transformation (5) to the 1-soliton solution $f(n) = 1 + \exp(\eta_1)$ we can deduce the following 2-soliton solution

$$g(n) = 1 + A_1 \exp(\eta_1) + \exp(\eta_2) + A_2 \exp(\eta_1 + \eta_2)$$

where

$$\begin{aligned} \eta_i &= p_i n + 2 \sinh(kp_i)t + \eta_i^0 \\ A_1 &= \frac{\sinh(kp_1) + \sinh(kp_2) - \sinh[k(p_1 + p_2)]}{\sinh(kp_1) - \sinh(kp_2) - \sinh[k(p_1 - p_2)]} & A_2 &= -\frac{\sinh[\frac{1}{2}m(p_1 - p_2)]}{\sinh[\frac{1}{2}m(p_1 + p_2)]} \end{aligned}$$

with p_i and η_i^0 constants, for the parameters $\lambda = \exp(kp_2), \mu = -\lambda$ and $\gamma = (1 - \lambda^2)/\lambda$.

Example 2. In this we consider an extended differential-difference KdV equation

$$[aD_z \sinh(\frac{1}{2}maD_n) + \sinh(\frac{1}{2}kaD_n) \sinh(\frac{1}{2}(m - k)aD_n)]f(n) \cdot f(n) = 0 \tag{6}$$

$$[4a^3D_t \sinh(\frac{1}{2}maD_n) \pm aD_z \sinh(\frac{1}{2}(m - k)aD_n) - 3 \sinh(\frac{1}{2}kaD_n) \sinh(\frac{1}{2}(m - k)aD_n)] \times f(n) \cdot f(n) = 0 \tag{7}$$

where z is an auxiliary variable and m, k are two integers. In particular, when $m = 1, k = -1$ and the minus sign is taken in (7), or $m = 1, k = 2$ and the plus sign is taken in (7), equations (6) and (7) become a differential-difference KdV equation proposed by Ohta and Hirota [17]. For this reason we call (6) and (7) an extended differential-difference KdV equation. Again we can show the system (6) and (7) is integrable. In fact we have the following.

Proposition 2. A Bäcklund transformation for equations (6) and (7) is

$$\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n) = [\lambda \exp\{\frac{1}{2}(m + k)aD_n\} + \mu \exp\{\frac{1}{2}(k - m)aD_n\}] \times f(n) \cdot g(n) \tag{8}$$

$$[2aD_z + \lambda \exp(kaD_n) + \gamma]f(n) \cdot g(n) = 0 \tag{9}$$

$$[8a^3D_t + (-3 \pm 1)\lambda \exp(kaD_n) \pm 2a\lambda D_z \exp(kaD_n) \pm \lambda \gamma \exp(kaD_n) + \omega] \times f(n) \cdot g(n) = 0 \tag{10}$$

where λ, μ, γ and ω are arbitrary constants.

Remark 2. When $m = 1, k = 2$, the Bäcklund transformation equations (8)–(10) with the plus sign in (10) becomes one of the two Bäcklund transformations found in [18]. When $m = 1, k = -1$, the Bäcklund transformation equations (8)–(10) with the minus sign in (10) become another Bäcklund transformation for the differential-difference KdV equation. Note that as $a \rightarrow 0$ the differential-difference KdV equation becomes the KdV equation.

As an application of proposition 2, we derive 1-soliton and 2-soliton solutions of the extended differential-difference KdV equations (6) and (7). Here we only consider the case where the plus sign is taken in (7) and (10). The case where the minus sign is taken in (7) and (10) can be similarly considered. By applying the Bäcklund transformations (8)–(10) to the trivial solution $f(n) = 1$, we can easily obtain the following 1-soliton solution

$$g(n) = 1 + \exp(pn + qz + rt + \eta^0)$$

where

$$q = \frac{\lambda}{2a}(e^{-kap} - 1) \quad r = \frac{\lambda}{4a^3}(1 - e^{-kap}) + \frac{\lambda^2}{8a^3}(1 - e^{-2kap})$$

with p and η^0 constants, for the parameters

$$\lambda = \frac{\sinh[\frac{1}{2}(m - k)ap]}{\exp(-\frac{1}{2}akp) \sinh(\frac{1}{2}map)} \quad \mu = 1 - \lambda \quad \gamma = -\lambda \quad \omega = 2\lambda + \lambda^2.$$

Furthermore, by applying the Bäcklund transformations (8)–(10) to the 1-soliton solution $f(n) = 1 + \exp(\eta_1)$, we can deduce the following 2-soliton solution

$$g(n) = 1 + \frac{\lambda_1 - \lambda_2 \exp(kap_1)}{\lambda_1 - \lambda_2} \exp(\eta_1) + \frac{\lambda_1 \exp(kap_2) - \lambda_2}{\lambda_1 - \lambda_2} \exp(\eta_2) + \frac{\lambda_1 \exp(kap_2) - \lambda_2 \exp(kap_1)}{\lambda_1 - \lambda_2} \exp(\eta_1 + \eta_2)$$

where

$$\eta_i = p_i n + q_i z + r_i t + \eta_i^0 \quad \lambda_i = \frac{\sinh[\frac{1}{2}(m-k)ap_i]}{\exp(-\frac{1}{2}akp_i) \sinh(\frac{1}{2}map_i)}$$

$$q_i = \frac{\lambda_i}{2a} [\exp(-kap_i) - 1] \quad r_i = \frac{\lambda_i}{4a^3} [1 - \exp(-kap_i)] + \frac{\lambda_i^2}{8a^3} [1 - \exp(-2kap_i)]$$

with p_i and η_i^0 constants, $i = 1, 2$, for the parameters

$$\lambda = \frac{\sinh[\frac{1}{2}(m-k)ap_2]}{\exp(-\frac{1}{2}akp_2) \sinh(\frac{1}{2}map_2)} \quad \mu = 1 - \lambda \quad \gamma = -\lambda \quad \omega = 2\lambda + \lambda^2.$$

Example 3. In this example we consider a combined version of the two-dimensional Toda equation and a Lotka–Volterra-like equation:

$$[D_x D_t + A D_t \sinh(D_n) - 4 \sinh^2(\frac{1}{2}D_n)] f(n) \cdot f(n) = 0 \tag{11}$$

in which A is an arbitrary constant. In particular, when $A = 0$, (11) becomes the two-dimensional Toda equation [19]. If $f(n; x, t) \equiv f(n; t)$, then (11) becomes a special case of an extended Lotka–Volterra equation [14]. Concerning the more general equation (11) we have the following result.

Proposition 3. A Bäcklund transformation for (11) is

$$D_x f(n) \cdot g(n) = \left[\lambda \exp(-D_n) - \frac{A^2}{4\lambda} \exp(D_n) + \mu \right] f(n) \cdot g(n) \tag{12}$$

$$[-4\lambda D_t \exp(-\frac{1}{2}D_n) + 2A D_t \exp(\frac{1}{2}D_n)] f(n) \cdot g(n)$$

$$= \left[\left(4 - \frac{A}{2\lambda} \gamma \right) \exp(\frac{1}{2}D_n) + \gamma \exp(-\frac{1}{2}D_n) \right] f(n) \cdot g(n) \tag{13}$$

where λ , μ and γ are arbitrary constants.

In the following, we derive 1-soliton and 2-soliton solutions of (11) using the Bäcklund transformation (12) and (13). For simplicity, we set $A = 2$. In this case, by applying the Bäcklund transformations (12) and (13) to the trivial solution $f(n) = 1$, we can easily obtain the following 1-soliton solution

$$g(n) = 1 + \exp(pn + qx + rt + \eta^0)$$

where

$$q = \lambda(1 - e^p) + \frac{e^{-p} - 1}{\lambda} \quad r = \frac{\lambda}{1 - \lambda} \frac{e^p - 1}{\lambda e^p - 1}$$

with p and η^0 constants, for the parameters $\mu = (1 - \lambda^2)/\lambda$, $\gamma = 4\lambda/(1 - \lambda)$. Furthermore, by applying the Bäcklund transformations (12) and (13) to the 1-soliton solution $f(n) = 1 + \exp(\eta_1)$, we can derive the following 2-soliton solution

$$g(n) = 1 + A_1 \exp(\eta_1) + \exp(\eta_2) + A_2 \exp(\eta_1 + \eta_2)$$

where

$$\eta_i = p_i n + q_i x + r_i t + \eta_i^0 \quad q_i = \lambda_i [1 - \exp(p_i)] + \frac{\exp(-p_i) - 1}{\lambda_i}$$

$$r_i = \frac{\lambda_i}{1 - \lambda_i} \frac{\exp(p_i) - 1}{\lambda_i \exp(p_i) - 1}$$

$$A_1 = \frac{(\lambda_1 \lambda_2 - 1)[\lambda_1 - \lambda_2 \exp(p_i)]}{(\lambda_1 - \lambda_2)[\lambda_1 \lambda_2 - \exp(p_i)]}$$

$$A_2 = \frac{\lambda_2(q_1 - q_2) + (1 - \lambda_2^2) \exp(-p_1 + p_2) + \lambda_2^2 - 1}{\lambda_2(q_1 + q_2) + (\lambda_2^2 - 1) \exp(p_1 + p_2) + 1 - \lambda_2^2}$$

with λ_i , p_i and η_i^0 constants, for the parameters $\lambda = \lambda_2$, $\mu = (1 - \lambda_2^2)/\lambda_2$ and $\gamma = 4\lambda_2/(1 - \lambda_2)$.

Propositions 1–3 can be proved by using bilinear operator identities. In the appendix, we give a proof in detail of proposition 2 as an illustrative example.

To summarize, in this letter a simple procedure for searching for integrable discrete systems in a bilinear form is described, and three new integrable differential-difference systems are reported. In each case the corresponding Bäcklund transformations are presented. Moreover, by using these Bäcklund transformations, we can derive further results obtaining exact solutions, such as soliton solutions and rational solutions. Thus, in particular, by starting from the Bäcklund transformation equations (8)–(10) as an example, we can derive the following result for equations (6) and (7).

Proposition 4. Let f_0 be a solution of the extended differential-difference KdV equations (6) and (7) and suppose that f_i , $i = 1, 2$, is a solution of equations (6) and (7), which is related by f_0 under the Bäcklund transformation equations (8)–(10) taken with parameters $(\lambda_i, \mu_i, \gamma_i, \omega_i)$, i.e. $f_0 \xrightarrow{(\lambda_i, \mu_i, \gamma_i, \omega_i)} f_i$, $i = 1, 2$; $\lambda_1, \lambda_2, \mu_1, \mu_2 \neq 0$, and $f_j \neq 0$, $j = 0, 1, 2$. Then f_{12} defined by

$$\exp(\frac{1}{2}kaD_n)f_0 \cdot f_{12} = c[\lambda_1 \exp(-\frac{1}{2}kaD_n) - \lambda_2 \exp(\frac{1}{2}kaD_n)]f_1 \cdot f_2 \quad (14)$$

in which c is a non-zero constant, is a new solution of equations (6) and (7) which is related to f_1 and f_2 under the Bäcklund transformation equations (8)–(10) taken with parameters $(\lambda_2, \mu_2, \gamma_2, \omega_2)$, $(\lambda_1, \mu_1, \gamma_1, \omega_1)$, respectively.

XBH gratefully acknowledges support by the Royal Society, the Chinese Academy of Sciences and the National Natural Science Foundation of China.

Appendix. Proof of proposition 2

First we list some bilinear operator identities:

$$[D_y \sinh(\delta D_n) a \cdot a][\exp(\delta D_n) b \cdot b] - [D_y \sinh(\delta D_n) b \cdot b][\exp(\delta D_n) a \cdot a]$$

$$= 2 \sinh(\delta D_n) (D_y a \cdot b) \cdot ab \quad (A.1)$$

$$[D_y \sinh(\delta_1 D_n) a \cdot a][\exp(\delta_2 D_n) b \cdot b] - [D_y \sinh(\delta_1 D_n) b \cdot b][\exp(\delta_2 D_n) a \cdot a]$$

$$= D_y \cosh(\frac{1}{2}(\delta_1 - \delta_2)D_n)[\exp(\frac{1}{2}(\delta_1 + \delta_2)D_n) a \cdot b] \cdot [\exp(-\frac{1}{2}(\delta_1 + \delta_2)D_n) a \cdot b]$$

$$+ \sinh(\frac{1}{2}(\delta_1 - \delta_2)D_n) \{ [D_y \exp(\frac{1}{2}(\delta_1 + \delta_2)D_n) a \cdot b] \cdot [\exp(-\frac{1}{2}(\delta_1 + \delta_2)D_n) a \cdot b]$$

$$- [\exp(\frac{1}{2}(\delta_1 + \delta_2)D_n) a \cdot b] \cdot [D_y \exp(-\frac{1}{2}(\delta_1 + \delta_2)D_n) a \cdot b] \} \quad (A.2)$$

$$[\sinh(\delta_1 D_n) \sinh(\delta_2 D_n) a \cdot a][\exp((\delta_1 + \delta_2)D_n) b \cdot b]$$

$$- [\sinh(\delta_1 D_n) \sinh(\delta_2 D_n) b \cdot b][\exp((\delta_1 + \delta_2)D_n) a \cdot a]$$

$$= \sinh(\delta_1 D_n)[\exp(\delta_2 D_n) a \cdot b] \cdot [\exp(-\delta_2 D_n) a \cdot b] \quad (A.3)$$

$$\sinh(\delta D_n) a \cdot a = 0 \quad (A.4)$$

$$\begin{aligned} & D_y \cosh(\delta_1 D_n) [\exp((\delta_1 + \delta_2) D_n) a \cdot b] \cdot [\exp((\delta_1 - \delta_2) D_n) a \cdot b] \\ &= \sinh(\delta_2 D_n) [D_y \exp(2\delta_1 D_n) a \cdot b] \cdot ab \\ &+ \sinh(\delta_2 D_n) (D_y a \cdot b) \cdot [\exp(2\delta_1 D_n) a \cdot b]. \end{aligned} \tag{A.5}$$

We now turn to the proof of proposition 2. Let $f(n)$ be a solution of equations (6) and (7). If we can show that equations (8)–(10) guarantee that the following two relations hold,

$$P_1 \equiv [aD_z \sinh(\frac{1}{2}maD_n) + \sinh(\frac{1}{2}kaD_n) \sinh(\frac{1}{2}(m - k)aD_n)]g(n) \cdot g(n) = 0$$

and

$$\begin{aligned} P_2 \equiv [4a^3D_t \sinh(\frac{1}{2}maD_n) \pm aD_z \sinh(\frac{1}{2}(m - k)aD_n) \\ - 3 \sinh(\frac{1}{2}kaD_n) \sinh(\frac{1}{2}(m - k)aD_n)]g(n) \cdot g(n) = 0 \end{aligned}$$

then equations (8)–(10) form a Bäcklund transformation.

In fact, in analogy with the proof already given in [16], we know that $P_1 = 0$ can be proved using equations (8) and (9). Thus it suffices to show that $P_2 = 0$. For this, by making use of (A.1)–(A.3), we have

$$\begin{aligned} -[\exp(\frac{1}{2}maD_n)f(n) \cdot f(n)]P_2 &= 8a^3 \sinh(\frac{1}{2}maD_n)(D_t f(n) \cdot g(n)) \cdot f(n)g(n) \\ &- 3 \sinh(\frac{1}{2}kaD_n)[\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \\ &\cdot [\exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)] \\ &\pm aD_z \cosh(\frac{1}{2}kaD_n)[\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \\ &\cdot [\exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)] \\ &\mp a \sinh(\frac{1}{2}kaD_n)\{[D_z \exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \\ &\cdot [\exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)] \\ &- [\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \cdot [D_z \exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)]\}. \end{aligned} \tag{A.6}$$

On the other hand, using the fact that $P_1 = 0$ and that $f(n)$ is a solution of (6), we know that

$$\begin{aligned} & [\exp(\frac{1}{2}(m - k)aD_n)g(n) \cdot g(n)] \\ & \times [aD_z \sinh(\frac{1}{2}maD_n) + \sinh(\frac{1}{2}kaD_n) \sinh(\frac{1}{2}(m - k)aD_n)]f(n) \cdot f(n) \\ &= [\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot f(n)] \\ & \times [aD_z \sinh(\frac{1}{2}maD_n) + \sinh(\frac{1}{2}kaD_n) \sinh(\frac{1}{2}(m - k)aD_n)]g(n) \cdot g(n) \end{aligned}$$

and from this it follows, by using (A.2) and (A.3), that

$$\begin{aligned} & -a \sinh(\frac{1}{2}kaD_n)\{[D_z \exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \cdot [\exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)] \\ & - [\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \cdot [D_z \exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)]\} \\ &= aD_z \cosh(\frac{1}{2}kaD_n)[\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \\ & \cdot [\exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)] \\ & + \sinh(\frac{1}{2}kaD_n)[\exp(\frac{1}{2}(m - k)aD_n)f(n) \cdot g(n)] \\ & \cdot [\exp(\frac{1}{2}(k - m)aD_n)f(n) \cdot g(n)]. \end{aligned}$$

Thus by using equations (8)–(10), (A.4) and (A.5), we find that (A.6) becomes

$$\begin{aligned}
& -[\exp(\tfrac{1}{2}maD_n)f(n) \cdot f(n)]P_2 \\
& = 8a^3 \sinh(\tfrac{1}{2}maD_n)(D_t f(n) \cdot g(n)) \cdot f(n)g(n) \\
& \quad + (-3 \pm 1) \sinh(\tfrac{1}{2}kaD_n)[\exp(\tfrac{1}{2}(m-k)aD_n)f(n) \cdot g(n)] \\
& \quad \cdot [\exp(\tfrac{1}{2}(k-m)aD_n)f(n) \cdot g(n)] \\
& \quad \pm 2aD_z \cosh(\tfrac{1}{2}kaD_n)[\exp(\tfrac{1}{2}(m-k)aD_n)f(n) \cdot g(n)] \\
& \quad \cdot [\exp(\tfrac{1}{2}(k-m)aD_n)f(n) \cdot g(n)] \\
& = 8a^3 \sinh(\tfrac{1}{2}maD_n)(D_t f(n) \cdot g(n)) \cdot f(n)g(n) \\
& \quad + (-3 \pm 1)\lambda \sinh(\tfrac{1}{2}kaD_n)[\exp(\tfrac{1}{2}(m+k)aD_n)f(n) \cdot g(n)] \\
& \quad \cdot [\exp(\tfrac{1}{2}(k-m)aD_n)f(n) \cdot g(n)] \\
& \quad \pm 2a\lambda D_z \cosh(\tfrac{1}{2}kaD_n)[\exp(\tfrac{1}{2}(m+k)aD_n)f(n) \cdot g(n)] \\
& \quad \cdot [\exp(\tfrac{1}{2}(k-m)aD_n)f(n) \cdot g(n)] \\
& = 8a^3 \sinh(\tfrac{1}{2}maD_n)(D_t f(n) \cdot g(n)) \cdot f(n)g(n) \\
& \quad + (-3 \pm 1)\lambda \sinh(\tfrac{1}{2}maD_n)[\exp(kaD_n)f(n) \cdot g(n)] \cdot f(n)g(n) \\
& \quad \pm 2a\lambda \sinh(\tfrac{1}{2}maD_n)[D_z \exp(kaD_n)f(n) \cdot g(n)] \cdot f(n)g(n) \\
& \quad \pm 2a\lambda \sinh(\tfrac{1}{2}maD_n)(D_z f(n) \cdot g(n)) \cdot [\exp(kaD_n)f(n) \cdot g(n)] \\
& = 8a^3 \sinh(\tfrac{1}{2}maD_n)(D_t f(n) \cdot g(n)) \cdot f(n)g(n) \\
& \quad + (-3 \pm 1)\lambda \sinh(\tfrac{1}{2}maD_n)[\exp(kaD_n)f(n) \cdot g(n)] \cdot f(n)g(n) \\
& \quad \pm 2a\lambda \sinh(\tfrac{1}{2}maD_n)[D_z \exp(kaD_n)f(n) \cdot g(n)] \cdot f(n)g(n) \\
& \quad \pm \lambda\gamma \sinh(\tfrac{1}{2}maD_n)[\exp(kaD_n)f(n) \cdot g(n)] \cdot f(n)g(n) \\
& = 0.
\end{aligned}$$

In this way we have completed the proof of proposition 2.

References

- [1] Hirota R 1971 *Phys. Rev. Lett.* **27** 1192–4
- [2] Hirota R 1972 *J. Phys. Soc. Japan* **33** 1459–63
- [3] Caudrey P J, Eilbeck J C, Gibbon J D and Bullough R K 1973 *Phys. Rev. Lett.* **30** 237–8
- [4] Eilbeck J C, Gibbon J D, Caudrey P J and Bullough R K 1973 *J. Phys. A: Math. Gen.* **16** 1337–47
- [5] Bullough R K and Caudrey P J (eds) 1980 *Solitons (Springer Topics in Current Physics 17)* (Heidelberg: Springer) ch 1, pp 1–64
- [6] Ablowitz M J and Clarkson P A 1991 *Solitons, Nonlinear Evolution Equations and Inverse Scattering (L.M.S. Lecture Notes Math. 149)* (Cambridge: Cambridge University Press)
- [7] Hirota R 1980 *Solitons* ed R K Bullough and P J Caudrey (Berlin: Springer) pp 157–76
- [8] Hirota R and Satsuma J 1976 *Prog. Theor. Phys. Suppl.* **59** 64–100
- [9] Matsuno Y 1984 *Bilinear Transformation Method* (New York: Academic)
- [10] Hietarinta J *J. Math. Phys.* **28** 1732–42
- [11] Hietarinta J 1987 *J. Math. Phys.* **28** 2094–101
- [12] Hietarinta J 1987 *J. Math. Phys.* **28** 2586–92
- [13] Hietarinta J 1988 *J. Math. Phys.* **29** 628–35
- [14] Narita K 1982 *J. Phys. Soc. Japan* **51** 1682
- [15] Tsujimoto S and Hirota R 1996 *J. Phys. Soc. Japan* **65** 2797–806
- [16] Hu X-B and Bullough R K 1997 *J. Phys. A: Math. Gen.* **30** 3635–42
- [17] Ohta Y and Hirota R 1991 *J. Phys. Soc. Japan* **60** 2095
- [18] Hu X-B and Clarkson P A 1997 Bäcklund transformations and nonlinear superposition formulae of a differential-difference KdV equation *IMS Technical Report UKC/IMS/97/26*
- [19] Darboux G 1915 *Lecons sur la theorie des surfaces* 2nd edn, vol 2 (Paris: Gauthier-Villars)